NON-PENETRATING

PEAK ROOF

MOUNT ASSEMBLY INSTRUCTION

1/5

HARDWARE TOOLS PARTS

NO I TEM DESCRIP TION Q'TY DESCRIPTION QTY DESCRIPTION QTY DESCRIPTION QTY

1 Q mﬂﬂﬂﬂﬂﬂ 5/16"-18*3/4"Round flat head Square screw 20 b@ Mast Pole(L1500mm) (*4) 1 Mounting Base(Short) (+#C) 8

A c
2 O | 5/16"-18 washer 34
= 13mm wrench
3 S 5/16"-18 nylon nut 27 3mr enc
(not included)

4 @ W—/ 5/16"-18*3-1/8" hex-head cap screw 3 \

5 @ Hzm 5/16"-18*3/4" hex-head cap screw 4

6 Q @M 5/16"-18*7/8" Round head Square screw 2

DESCRIPTION QTY DESCRIPTION QTY DESCRIPTION QTY
1) 5/16"-18 hex flange nut 2 Mounting Base(Long) (#B) 4 Adjustable rod (#D) 4
7 \a) / g
B D

8 (ars #12*3/4" Metal tek screw 4

9 (P> | 5/16"*3" Anchor Bolt 8

10 Support plate 2

11 Link Bracket 2

10

VER 1.3 20230322




NON-PENETRATING PEAK ROOF MOUNT ASSEMBLY INSTRUCTION

2/5

INSTALLATION DESCRIPTION

Step 1

Assemble 2 set Long mounting base (#B)and Short
mounting base (#C) with screw(#1)
washer(#2),nylon nut(#3)

NOTE A

VER 1.3 20230322

rod C fixed under
rod B

rod B fixed under
rod C

Step 2

Assemble 2 set mount base with Support plae (#10),screw(#1),
washer(#2),nylon nut(#3)




NON-PENETRATING PEAK ROOF MOUNT ASSEMBLY INSTRUCTION

3/5

INSTALLATION DESCRIPTION

Step 3

Assemble mast pole(#A) with screw(#4) ,
washer(#2),nylon nut(#3)

y

|

/NOTE C

Ve
-~

mast pole fixed the
lower square hole

L
©
o ) ) 7
9\ N
p : m
“u ° : ° --
&
L2 - B /7 AR § \
,"l"\\\\ ! '
,”I/l s \ ,
c _ sy ,/'/
O
N

\=

VER 1.3 20230322

Step 4

Assemble 2 adjustable rod(#D) and mast pole and base mount with
screw(#4) screw(#5), washer(#2),nylon nut(#3)

inner rod rotate for
fixed angle




NON-PENETRATING PEAK ROOF MOUNT ASSEMBLY INSTRUCTION

4/5

INSTALLATION DESCRIPTION

Step 5

Assemble 2 adjustable rod(#D) and mast pole and base mount with
screw(#4) screw(#5),washer(#2),nylon nut(#3)

inner rod rotate for
Pre-assembly adjustable rod(#D) and — fixed angle

link bracket(#11) with screw(#6),flange

Step 6

Adjust pole angel to 90 degree and tighten all screw,

then fixed metal tek screw(#8) finally

Front side Right side

O




NON-PENETRATING PEAK ROOF MOUNT ASSEMBLY INSTRUCTION 5 -

INSTALLATION DESCRIPTION

Penetrating hardware option:

For directly mounting using hardware(#9),
place appropriately rated hardware, at the
ocations circled in diagram.

§

5/16"*3" Anchor Bolt(#9)

VER 1.3 20230322




NON- PENETRATING PEAK ROOF MOUNT WITH OPTIONAL ARM ASSEMBLY INSTRUCTION | .

HARDWARE TOOLS PARTS
NO I TEM DESCRIPTION Q'TY DESCRIPTION QTY DESCRIPTION QTY DESCRIPTION QTY
n_1Q%3_1/Q" _ Mast Pole(L850mm) (#A) 1 Adjustable rod (#C) 1
1 @ —m | 5/16"-18*3-1/8" hex-head cap screw 3 b@ A
2 O | 5/16"-18 washer 8
= 13mm wrench
3 \m 5/16"-18 nylon nut 4 :
= (not included)
4 Q @M 5/16"-18*7/8" Round head Square screw 1
5 @ Hzm 5/16"-18*3/4" hex-head cap screw 1
= n_ DESCRIPTION QTY DESCRIPTION QTY DESCRIPTION QTY
6 & 5/16"-18 hex flange nut 1 Supporting Tod @5) 5
7 (ors #12*3/4" Metal tek screw 1 B
8 @r‘"@ Link bracket L ___/ 7
9 a
10

VER 1.3 20230323




NON- PENETRATING PEAK ROOF MOUNT WITH OPTIONAL ARM ASSEMBLY INSTRUCTION , .

INSTALLATION DESCRIPTION

Assemble mast pole(#A) with screw(#1) A - -
' ssemble 2 supporting rods(#B) with screw(#1),
WaSher(#Z),nylon nUt(#3) WaSher(#Z),nyl(p)% nut(_.lgi_.:s)
_ -
// R supproting rod =
’ p \ NOTE B /
\ . ( i \ /” Y 7 i
\ ! | e |
V- : @@% -0 |
B mast pole fixed the R e J
NOTEA '\ lower square hole Before assembly supproting rod
,release screw and nut then use
> same screw,washer and nut fixed
-

VER 1.3 20230323




NON- PENETRATING PEAK ROOF MOUNT W

THOPTIONAL ARM ASSEMBLY INSTRUCTION .

INSTALLATION

DESCRIPTION

Step 3

Assemble Adjustable rod(#C) with screw(#1)

SCrew(#5),washer(#2),nylon nut(#3) inner rod rotate for

Pre-assembly adjustable rod(#C) and - fixed angle
link bracket(#8) with screw(#4),flange
Nut(#6)

VER 1.3 20230323

Step 4

Adjust pole angel to 90 degree and tighten all screw,
then fixed metal tek screw(#7) finally

- -
_ |
Front side Right side




	KPPA-PRM-1_assembly installation
	P1
	P2
	P3
	P4
	P5

	KPPA-PRM-ARM_assembly installation
	P1
	P2
	P3


